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A summer camp counselor wants to find a length, x,

in feet, across a lake as represented in the sketch U’)
above. The lengths represented by AB, EB, BD, and X : l b

CD on the sketch were determined to be 1800 feet,

1400 feet, 700 feet and 800 feet, respectively.
Segments AC and DE intersect at B, and 2AEB and

£CDB have the same measure. What is the value of x?

values for ¢? X—f-7
A) 3and5 ’}(){""IDX

B) 6and 35

C) 10and 21 (6X4L (3X+7>
@31 and 41 LHK

2.) IW 7) = 15x% + cx + 14 for all
value x,anda+b = 8 what ar3 two possjble



3.) For what value ofnis [n — 1| + 1 equal to 0?

- In-l|+

B) 1

o 'n
here is no such value of n.

an

8 F

Determine which two of the three given triangles
are similar. Find the scale factor for the pair.
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Questions 1 — 3 are multiple choice. Circle the correct answer for each.

a b ; b ?
1. If — =—, complete the following statement: — = —
12 6 a
12 a 6
Al — Cl = hd
[A] e [B] 5 [C] T [D] 5

a b : 6 ?
2. If — =—, complete the following statement: — = —
12 6 12 ?

a b a "
[A] ] €14 a

3. If S = % , which one of the following statements wile true.
y

> x+ 5+8 X
[A] 8x = 5_)/ @ =— [C] 4 = [D] =
8 y y 8 5
Fill in the right-hand side of the second proportion.
y_3 5.3 a 5 atb % +9
4. If === ,then == 5. If — ==, then = ——

% b

£ D ;s 3

]



6. The door in a room is 8 ft. tall. An architect’s model of the same door is 2 in. high. What is
the ratio of the height of the model to the real height?

>IN >N

Solve each proportion.
4 _m X 12



Use the similarity statement to complete the statements below: A4BC ~ ALMO.




13. Are the polygons below similar? Explain why or why not.
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(t) Al <>

(2)

b =
3

e

;
2

14. Are the polygons below similar? Explaln why or why not.

<> 6 &mw WLt prop

Nt
Ll
v



15. The scale on amap is 1 in. = 120 mi. If two cities are 6l in. apart on the map, what is the

N = 65"
120 mi Xmi
X:‘?ﬁ[)m\

actual distance in miles?

Explain why the triangles below are similar: AA~, SAS~, or SSS~. Show any work necessary

to explain your reasoning below the triangles. Then write a similarity statement. If they are not
similar, then put “no” and leave the next two lines blank.

16. 17. .
. 4 =Y
Q
X 4 2 A
8 - 4
Q R P B

Similar?

-QS Q imilar? 'Q‘S
gﬁiﬁfaﬁtys?zi:ment‘:v ﬁ H. BX NA @ lS{iii?loaI;ty tement: ﬁ qul\lﬂ W




Similar? ND

Reason:

Similarity statement:

The triangles below are similar. Find the value of the variables.
X = X= D
20. 4& L‘- i
7/

y=10-5"

¥

30~ foX

Similar? 555 ~ g)‘b—
R :
Sitr:rajfa?ity statement: MB C’VA ZYX

/‘

25



m-+-3= 11 }-L{m _)__3“/] ,2_

T mim 2=
m =m- 5% =0

(M- 5>(’”r7) >€
m=§,1"



